Converting units
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A bucket weighs 600g.
When two thirds full with water, the bucket weighs 8.7kg.
Work out the total weight in kg when the bucket is fully filled with water

12.75kg
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[ Covert the following lengths: )
a) 5m to cm 500(;n"|' glémmtocm | Gem m) 11cm to mm 1.1 mm
peemtomm | §0mm | W3oomtom | 3m nemtoem | 8000cm

c) 4km tom 4000m i) 2500m to km 25km 0) 46mm to cm 460m
d)4imtocm i 449 Oc}n j)7emtom 0,07&] p) 0.8km to cm 800060“‘\
e) 0.2m to mm zoon;m k) 63cm to m 0.63&] q) 0.25km tom 250m...
fl13semtom i 1.35m )240mmtocm | 24cm r)158mtokm (), 158m

. }
Covert the following masses: )
a)3kgtog 30009 ..... g) 3500mgto g 3.5m§ m)34Tto g 340000999
b) 9g to mg goooumg n8okgtoT i 0.82T n) 29T to kg 29006.kg
sisrors | 15000kg | 1ssiots | 0. 34kg | o)3akgtome 3400000mg
8 6200kgt0T | 6. 2T j76000gtoT i 0.0076T i p)0.39%gtomg 390060mg§
e)osokgtoT i 0.95T goocoogtoks| O0KG a)osskgtoT 10.00058T
istole | 1500kg ekt | 0.0063T  nuesewr |0.1745T
[ Covert the following volumes: )
a) 8L to m| 8000ml| e ssomitoc i 85¢l| m) 1400cltoL | {4

b) 4cl to ml 40m| h) 3200mlto L 3.2L n) 580cl to ml 5800m|

c) 450cl to ml 4506m| i) 4900ml to cl 490n{| 0) 250mlto L 0.25|:

d) 49L to cl 490(5;;| jy57000mitoL | §7LL p)1.28Ltoml | 4 280}}1
e)37cdtoml i 370 m| k) 0.04L to cl 4cl q) 4.9cl to ml 49ml---.-.-.-

kf) 9.4Ltocl 94OC.|" 1) 0.29L to cl 29cl rf120mitol i (0.9 2L |
[ Exam question: )




